HAHE :2019.3.8 13:32
FUN =R & T Sy
BEfE4E R H :20194E03 B08H (&)
wmEHIE YT RL&k—A el 2 4 5 7 9
a7 hy b R 49 M1 2 4 6 7 9
FHo—X . HE W W1 2 4 5 6 9
BRANVTF B0 0 &iE20.0
JBERIREFE ~yvFrd-Rayvya—R v hayy
BIMASL  BHEIBA  KIEITA ARFI25A
NERT ZNE K4 3 | B | V8 GROSS HDCP| NET |ceosski| e
1 K m"mA 47 47/12.0 [35.0 RS
MEA = 47 47112.0 135.0 2L
3 KB B¢ 40 40| 4.8 [35.2 3 AL
4 |EH & 45 45/ 9.6 [35.4 4 fir
5 |ER §—88 38 38| 2.4 135.6 5 fir
6 |ZRAR ZBR 50 50/14.4 135.6 6 fir
T B % 49 49/13.2 [35.8 7 L
8 | AE JBEF 54 54/18.0 [36.0 8 ir
9 B H=IT 53/ 53/16.8 136.2 9 fir
10 %)l —= 46 46 9.6 [36.4 1 041
11 R i 46 46] 9.6 136.4
12 [IA s 52 52/15.6 |36.4
13 &I BEx 52 52/15.6 136.4
14 |TE £5% 44 44] 7.2 [36.8
15 |hE BE 44 44! 7.2 136.8
16 [HTF 50 50/13.2 [36.8
17 |ZFX] # 56 56/19.2 [36.8
18 IFRJI &'k 43 43 6.0 [37.0
19 |¥EH FETF 43 43] 6.0 [37.0
20 1By 5= 431 437 6.0 [37.0 FE
21 A Fig 49]  49/12.0 137.0
22 |EaFT & 49 49]12.0 [37.0
23 &2l EH 42 42] 4.8 [37.2
24 |HlE E{h 42 42] 4.8 |37.2
25 3 BAXC 42 42] 4.8 [37.2
26 WA FEsE 42 42] 4.8 137.2
27 B BSIT 47 47/ 9.6 137.4
28 IEAK KB+ 47 471 9.6 [37.4
29 |8 IEE 47 47] 9.6 [37.4 |
30 | Fx EEE 477 47] 9.6 [37.4 RE
31 | &/ HE 47 47/ 9.6 137.4
32 17 ek 53 53115.6 [37.4
33 BB F=A 53] 53/15.6 [37.4
34 |[fHR E 40 40! 2.4 137.6
b _|ElF BE 46 46, 8.4 137.6
36 K B= 46 461 8.4 137.6
37 |FERE 5LBH 46 46| 8.4 [37.6
38 EER Hi& 52| 52i14.4 |37.6
39 |8BHF ZER 52 52114.4 137.6
40 B HE b 52 52114.4 [37.6 RE
41 |HY =B 39 39/ 1.2 [37.8
42 |1llgr FEME 45 45/ 7.2 137.8
43 | tHRE = 45 45/ 7.2 137.8
44 | HE B 45 45] 7.2 |37.8
45 |BXH FRF ‘ 51, 51/13.2 [37.8
46 |KEH i 50 = 50[12.0 [38.0
47 | ZFEX FF 56 | 56/18.0 [38.0
48 [fHH BU# 43 43] 4.8 138.2
49 B H Fof ! 43 43] 4.8 138.2
50 [FFA E— i 49| | 49]10.8 [38.2 TRE
1/ 3 tEIILTE




§ § H77H :2019.3.8 13:32
FUN =& T IV T

BIfE4EA B 2019403 H08H (&)

BEFIR U T Blk—nr 1 2 4 5 7 9
AaThyv b &R +9 M1 2 4 6 7 9
FERa—X HrEm w1 2 4 5 6 9

BRAVT B20.0 £8E20.0
IBRIRESE ~vFos - RaTa—R Aoy bRy
BMAL  BEEIBA ZPEITA SEFI25A

|
JIEAT SINE K4 ® 3] T8 |GROSS| HDCP | NET |crosswitz kS
51 |#AH EFR 55 ' 55/16.8 [38.2
52 |JEBF {254 42 | 42| 3.6 [38.4
53 |[BTH wE 48 I 48] 9.6 [38.4
54 Bl YeHE 54 54115.6 [38.4
b5 &0 BEF 54 54/15.6 138.4
56 |3 BT 53 53/14.4 [38.6
57 |BH B 52 52/13.2 [38.8
58 |fhiENN {fF£— 45 451 6.0 139.0
59 |EH = 45 451 6.0 139.0
60 = B 45 45/ 6.0 [39.0 RE
61 |FF LR 51 51112.0 139.0
62 LR B 51 51112.0 [39.0
63 |HEE & 51 51/12.0 139.0
64 |1£BE BEA 50 50(10.8 /39.2
65 |EH KE 50 50'10.8 139.2
66 |[ELEF 50 50/10.8 [39.2
67 |&F 5L=E 50 50/10.8 139.2
68 AR & 43 43 3.6 139.4
69 | FH EHT 49 49] 9.6 [39.4
70 | .EH ¥R 49 49] 9.6 [39.4 HRE
71 |BE B 49 49] 9.6 139.4
72 KM wE 55 55115.6 [39.4
73 |HhPe E_ 55 | 55/15.6 [39.4
74 E B 55 55/15.6 139. 4
75 R EER 48 ; 48] 8.4 139.6
76 _EE BF 54, 54/14.4 139.6
71 _|giE &R 54 | 54/14.4 [39.6
78 | HE] 47 | 47] 7.2 139.8
79 B A= 47 471 7.2 [39.8
80 |&f.E K#H | 53]  53/13.2 [39.8 HRE
81 JHH HE 53 53/13.2 139.8
82 |FnH &7 52 52/12.0 140.0
83 EEA Hih ‘ | 52 52112.0 ]40.0
84 IFaH FE ! 52 52/12.0 140.0
85 IXKE HH 52/  52[12.0 140.0 |
86 [ FE—FBF 52 52/12.0 140.0 |
87 |ZH EE * 60 60/20.0 140.0
88 R TEHF 45 45 4.8 140.2
89 &% T AHF 51 51/10.8 [40.2 |
90 A FEH ! 57 57116.8 [40.2 | HE
91 /NIl F=z | 50 50/ 9.6 140.4 |
92 |E+ JEKER | 49 49] 8.4 140.6 |
93 &M ¥R | 49 49] 8.4 140.6
94 B &% E 55 55/14.4 140.6
95 I3 B5L 55 55/14.4 140.6 |
96 | RfiF 5= i 55 55114.4 [40.6 |
97 I1gaK EXR ’ 48 48] 7.2 140.8 |
98 | FR it | 54 54/13.2 '40.8 |
99 =% E—H i 54 | 54[13.2 !40.8
100 | &Rk HIE | 53 | 53'12.0 '41.0 | RE

2/ 3 AT LTS




HAHHBE :2019.3.8 13:32

PN =RT&E T I WNyT°

BEEE R H .20194E03 8 08 (4)
B FE LU T BLA—A M1 2 4 5 7 9
2aF Ay b AR 49 1oz o4 6 7 9
ﬁ}iﬁ:p_-z ﬁ@@ w1 2 4 5 6 9
BARNVT - BHE20.0 220 0
JEfIREFE vy Frd - Rarya—K AUy by s
BIMALK BALI08 A FAEITA AHI125A
JEAT BINE K4 W | B | T |GROSS HDCP| NET |crossiisi &5
101 [AKH S&L 61 61/20.0 141.0
102 ¥ H HE 52 52/10.8 |41.2
103 [FEY IEEE 58/ 58/16.8 |41.2
104 ffiE ke 57 57/15.6 |41.4
105 Rl = 57 57:15.6 |41.4
106 |fEAS 18R 61 61,19.2 |41.8
107 \FFE FE— 54 54112.0 [42.0
108 |EA&R h®x 53 53110.8 142.2
109 BB #:A 53] 53[10.8 142.2
110 &I %F 52 52/ 9.6 |42.4 RE
111 | EH £F 51 51 8.4 [42.6
112 &% —= 61 61'18.0 [43.0
113 BE B 63 63120.0 [43.0
114 [7KE 5L— 54 54/10.8 143.2
115 B8 FwpH 60 60/16.8 143.2
116 [AR* Bt 59 59115.6 [43. 4
117 | F5 S 51 51/ 7.2 143.8
118 | EB f#L | 64  64120.0 144.0
119 (K& 5LF 55 55/10. 8 |44.2
120 FaVE B 61 61/16.8 |44.2 RE
121 (@)l F— 60 60/15.6 |44.4
122 | BS. Fuk 60| 60/15.6 [44.4
123 [k 61 61115.6 [45.4
124 |HFH HE 66 | 66/20.0 46.0 IBB
125 | T 54 81 | 81/20.0 61.0 5

dtwmET LTS

3/ 3




